2

MSU

5 Equations of Lines and Planes (Part A)
5.1 Introduction to Lines in Space - Video Before Class
Objective(s):
• Define lines in space several different ways and learn some basic terminology.
• Determine when lines intersect or not.
Theorem 5.1. Vectors v and w are parallel if and only if
$$\vec{V} = \underline{K} \cdot \vec{W}$$
 for some scalar k.
Alternatively if $v = (v_1, v_2, v_3)$ and $w = (w_1, w_2, w_3)$ then v and w are parallel if and only if
 $\begin{cases} v_1 = \underline{K} \cdot \underline{W} \\ v_2 + \underline{K} \cdot \underline{W} \\ v_3 + \underline{K} \cdot \underline{W} \\ v_4 + \underline{K} \cdot \underline{W} \\ v_5 = \underline{K} \cdot \underline{W} \\ v_6 = \overline{\Gamma}_0 + \underline{T} \cdot \underline{V} \\ v_7 = \underline{V} \cdot \underline{W} \\ v_8 = \underline{V} \cdot \underline{V} \\ v_8 = \underline{V} \\ v_8 = \underline{V} \cdot \underline{V}$

Page 24



Page 25

5.2 Parametrizations, Line Segments, and More Examples – During Class

Objective(s):

- Determine when two parametrizations describe the same line.
- Create a way to parametrize a piece of a line.
- Gain more exposure to types of line problems that can be asked.

Example 5.5. One small annoyance with parametrizing lines is that the parametrization is <u>not unique</u>. Using a graphing utility show that

L₁: x = 1 + 2t y = 5 - 2t z = 6tL₂: x = 3 - s y = 3 + s z = 6 - 3s

are the same line

Theorem 5.6. Two parametrizations $r_1(t)$ and $r_2(s)$ describe the same line if they are <u>parallel</u> and <u>going through</u> one common point

Now let's use Theorem 5.6 to show that L_1 and L_2 describe the same line in Example 5.5.

Theorem 5.7 (Equation of a line segment). The line segment from r_0 to r_1 is give by the vector equation

$$\vec{r}(t) = (1-t)\vec{r_{0}} + t\vec{r_{1}}$$
 $0 \le t \le 1$

Example 5.8. Find an equation for the line segment from (1, 2, 3) to (5, 2, 0).

$$F(t) = (1-t)(1,2,3) + t(5,2,0)$$

= (1,2,3) + t((5,2,0) - (1,2,3))
= (1,2,3) + t((4,0,-3))



Example 5.9.

(a) Find parametric equations of the line that passes through the points A(2,3,4) and B(1,0,-1).

$$\vec{r}(t) = (4-t)(2,3,4) + t(4,0,-1)$$

= $(2,3,4) + t((4,0,-1) - (2,3,4))$
= $(2,3,4) + t(-4,-3,-5)$

(b) At what point does the line intersect the xy-plane.

$$4-5t=0$$

 $4-5t=0$ -1 $t=\frac{4}{5}$
point of intersection: $\vec{r}(\frac{4}{5}) = (2,3,4) + \frac{4}{5}(-1,-3,-5)$

Example 5.10. The lines $\mathbf{r}_1(t) = \langle 1+t, 1-t, 2t \rangle$ and $\mathbf{r}_2(s) = \langle 2-s, s, 2 \rangle$ intersect at (2, 0, 2).

Determine the angle between the lines.

gle between the lines.

$$\vec{r_{1}}(t) = (4, 1, 0) + t (4, -4, 2)$$

$$\vec{r_{2}}(t) = (2, 0, 2) + s (-1, 1, 0)$$

$$\vec{v}$$

$$cos \phi = \frac{\vec{u} \cdot \vec{v}}{|\vec{u}| \cdot |\vec{v}|} = \frac{A \cdot (-1) + (-1) \cdot 1 + 2 \cdot 0}{\sqrt{1^{2} + 1^{2} + 2^{2}} \cdot \sqrt{1^{2} + 1^{2} + 0^{2}}} = \frac{-2}{\sqrt{6} \cdot \sqrt{2}} = \frac{-2}{\sqrt{12}}$$

$$= \frac{-2}{\sqrt{3}} = \frac{-1}{\sqrt{3}}$$

$$\vec{t} = arcos \left(\frac{-1}{\sqrt{3}}\right)$$

Page 27

MSU

5.3 Distance from a Point to a Line – During Class

Objective(s):

- Develop a formula to determine the distance from a point to a line.
- Utilize the newly developed formula to calculate the distance from a point to a line in space!

Now we have lines, we have points, lets talk about distance!

Here is a pretty picture





Theorem 5.11. The distance from a Point P to a line through S parallel to \mathbf{v} is given by

thus

And this is a perfectly good Theorem but that triangle looks like something we have seen before when we were talking about projections. So in fact....



Example 5.13. Find the distance between the point (0, 1, 0) and the line containing the points (1, 1, 0) and (2, -4, 1). (a) By using Theorem 5.11

$$P(0,1,0) \qquad \vec{v} = (2,4,1) - (1,1,0) \vec{v} = (1,-5,1) \vec{v} = (1,-5,1) \vec{v} = (0,1,0) - (1,1,0) = (-1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) = (-1,0,0) - (1,0,0) = (-1,0,$$

(b) By using Theorem 5.12

$$\begin{aligned} \Pr \sigma_{j \frac{1}{\sqrt{2}}}(\vec{sP}) &= \left(\frac{\vec{sP} \cdot \vec{v}}{\vec{v} \cdot \vec{v}}\right) \cdot \vec{v} \\ &= \left(\frac{(-1,0,0) \cdot (-1,-5,1)}{\sqrt{2} |\vec{v}|^2} \cdot \vec{v}\right) \\ &= \left(\frac{-1}{|\vec{v}|^2} \cdot \vec{v}\right) \\ &= \left(\frac{-1}{|\vec{v}|^2} \cdot \vec{v}\right) \\ \left(\Pr \sigma_{j \frac{1}{\sqrt{2}}}(\vec{sP})\right) &= \left(\frac{1}{|\vec{v}|} = \frac{1}{\sqrt{27}}\right) \\ &= \left(\frac{1}{|\vec{v}|^2} - \frac{1}{|\Pr \sigma_{j \frac{1}{\sqrt{27}}}}\right)^2 = \left(\frac{27}{27} - \frac{1}{27}\right)^{1/2} \\ &= \sqrt{\frac{26}{97}} \cdot \end{aligned}$$